A wppid B argniid @ S iis@nsarean srra euum aﬁ]eﬂggﬁgpanm
Speu(pio eflasiismer Qstam® sansd (s, -

. HlivwA S B
P30 e5. 20,000 @ 30,000
Gr;ﬁrrurrrm@m Qj,u_wr (G&gmy Log_f,]uq @co@na)) 4 eﬂ,sm@e;m 5 e;bewr@a;m

[T TR Blay aieumi, euiliy Gg,wmnmm Logogjm el e,
glinbA  HlubB

et (h b b
1 2,000 3,000
2 1,500 3,000
3 1,500 2,000
4 1,000 - 1,000
5 = 1,000

Qurgsd 6,000 10,000

GCaeneuwimar curey Gﬁ]ﬁgm 12% crafle erps S gdamen Cgiray Qguiuy
Geuair(id?
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"Time : Three hours

10.

‘Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks) |
" Answer any ’-I‘EN quéstions |

What is meant by management accountmg"

: G’Loeurrmremm ST Wed Grasrg)rra) Greem?

Give two functions of a management accounting.
Cuoorareis sarédwalan gCaaib @ran() Crrésmismar s ims.
What is common size _statenierit?

Qug| Satey SNE®S T GTemesT?

. What is meant by analysis and 1nterpretat10n of financial

statements?

. Bffloe oféms U@SST6y GTampTed eTaTa?

" What are profitability fatios? ._

OTLSSETEOLO e;{,ujm: G Grama?’

Bring out the limitations of ratio analysis.

aﬁﬂaﬂg; a_i,u_leﬁlsm ﬁmma;mm Qamenis.

What do you uncierstand by thé term Break-Even a-vnalys‘is?‘
Qeomu plbhp piiey LB Sedi arﬂms{wrgﬁ?

Give tha meaain‘g of cash flow statement.

QUI‘I’éSSELJ_FJII_L_‘ il sensullen eramuigen QUTHET Q& menTis.

What is Internal rate of return?

2 6t ai@éirru'_n ellflgid eTammmed Gramman?

Define the term Budget.

aure| Aewey L ib eranm LFSSar m@ﬁaﬂmé;asmu.b S([55.

B oom (&) - Manw Setsunkingy

n
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13.

14.

15.

What is contribution?
LmsetlliL] eTemmed eremes?
Mention any two objectives of budgetary control.
aure) dsweysdl L sdler gCaaibd Grean® Crréstise @6lLd @G s.
SECTION B — (5 x 5 = 25 marks)
‘Answer any FIVE questions.
Explain the advantages of management accounting.
GueorramTenLo &emrédlwiaSle BemenioSaT aﬁlmé;@as.

From the details glven below prepare a common' size income
statement.

Particulars Year ending Year ending
31-12-2016  31-12-2017
| Rs. Rs.
Sales 2,00,000 5,00,000
Cost of sales 1,00,000  2,20,000
Operating expenses 20,000 20,000
- Non;opera'ting expenses ' 3(j)'000 35,000

: ‘%gpa;enrr@mm g,a;msuasaﬂcﬂ@mgj Qurrgl 3IQTEY su@'Lorreur ifsmamw

st Gauus.

eflougid L0 Peel BH (P
. 31-12-2016 31-12-2017
AN (b
ApLianen 2,00,000 + 5,00,000
puenest LB;._r,rerrr al_a;asaﬁlma) "~ -1,00,000 2,20,000
Qewdum. @ Gsweyser 20,000 20,000
Qaweur® SHp QFeweyser - 30,000 35,000

Calculate Operating Profit and Net profit ratio.

Rs.
Sales . ' 2,00,000
Administration expenses 20,000
Gross profit ~ 70,000
Income from investments 10,000
Selling expenses 10,000
Loss due to fire 12,000
2 62453/CPZ6B/CPG6A/

CPM6A/CPW6C/CPC6C/MATS6A

24.

Liabilities 30.6.2009 30.6.2010 Assets - 30.6.2009 30.6.2010
Rs. l{s. - Rs. Rs.

Building 1,00,000 80,000

Other fixed accounts 6,00,000 5,00,000

7,68,000 6,40,000 7,68,000 6,40,000

Additional information :
(a) There were the drawings -

(b) There were no purchases (or) Sales of either building
(or) other fixed assets. Prepare cash flow statement.

8. Simem eremuicufen HlHBla §Cp CarhssiuDeTerg). .
Qurgiiyser  30.6.2009 30.6.2010 Qsnggiéser 30.6.2009 30.6.2010

. €. 3 S €.
Qeigs Couaiig i . QpréaLd 40,000 30,000
ST G &6 29,000 25,000 s_emafisér 20,000 17,000
Wsd . ' 17,39,000 6,15,000 ssfmiy 8,000 13,000
S Sligl_Lb 1,00,000 80,000

8si Hevws ‘

Qemggiasar  6,00,000 5,00,000
768,000 6,40,000 7,68,000 6,40,000

D56 Qeiifaer

(1) m@uqa;m G;g}uﬁ]&)mw

(<) slglb Sdag @syhlamons Q&rrg,gjasa;aﬂa) eflprenen LHOHILD
QsmaTpse ergialb Gdame. \
LISTLIL|(p&S il &EamsenL g,u_Jrrr'r AFTHT: >

Calculate the average rate of return for prOJect Aand B from the

‘following :_

. - -Project A Project B
Investment " A ~Rs. 20,000 -Rs. 30,000
Expected l1fe (No salvage value) 4 years b years

Pro;ected/net income, after interest, depreciation and taxes.
Project A  Project B

Years Rs. Rs.

1 2,000 - 3,000
2 1,500 3,000
3 1,500 ' 2,000
4 1,000 1,000
5 H - 1,000
Total 6,000 10,000

The required rate of return is 12% which prOJect should be under
taken?

Tor 62453/CPZ6B/CPG6A/
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Qurgitiysar 2016 2017 QengiseaeT 2016 2017 - &peumid aﬁ]euurmasmm Casrar® Quiss @eru aﬁleﬁ]g,m wHmb Har

. _ W @ . “@eru s e Aueupdn samrsd[Hs.

ity 200 245 spig 200 300 | o

8% sL_af_ GULsHTLD 100 150 st_amraflaer 200 300 alHLienar 2,00,000

Qs.om. 8.5 50 75 Qurésid 100 140 Aireurss Qsmasar, 20,000

ubue sefiCaniser 2650 350 wieladesl | - Quons Garis 70,000
1,300 1,520 1,300 1,520

WS aar Bsmen oumeumi 10,000
22. TFrom the following detalls prepare statement of proprletary

. elpuenen Qaeeyaar | 10,000
funds with as many details as possible. . . ‘ ' ,
. g Sulemmed pLLtb 12,000
(@) Stock velomty 16 ' ]
(b) Capital turnover ratio (on cost of sales)‘ oG . : 16. From the following details of a trader, you are required to
(c) Fixed assets turnover ratio (on ¢ost of sales) : 4 calculate stock turnover ratio. o
AN S.
(d) Gross profit turnover ratio : 20% : : ‘
) - y ) Sales Iy 33,984
() Debtors velocity:2 months e : '
t) Credit i e ' : Sales returns - 380
s reditors velocity : ays. , '
( e % ‘ Gross profit. - 8,068
The gross profit was Rs.60,000, Reserves and surplus amount. to Stock in the besinmi -
Rs. 20, 000. Closing stock was Rs. 5,000 in excess of opening : tock in the beginning 1,378
stock. Stock at the end , 1,814
Gl Qan(ésiu’ Herer 6‘9"“'7@5“"“5 Q*’;”W@ "’—’ﬂ@”m‘“”m” %3 - Epeupd efleurtisaner Qamen() F7ES SHé éﬁ]ﬁggﬁmm a;wé;ﬁ@i.
S fsmaamu swni Glauis. : : ; ; ' ' o '
(@) sr8d@iy sipHs-6 , B i | aflpLienan 33,984
() @ elwruny effsh (ebHuaman &i‘_é;e;‘e_'r,g‘,].eb) -2 | oApLienar HpLiLis 380
(8) Heowrear Gsrgg eNwimimy afllgb (efpuamen oiL_&asHed)—4 Quorés @emuib 8,068
(FF)  Qungs Qemu eSwmumy eldgn -20% " L TR ' 1,378
(2) sLarmafladr augd Gousid ~2 orsis - S srse : 1,814
(2r) sLiBCoMT Qoq)sgisd Cousd —73 Hri_ser '
. 17. Calculate Break-even point.
Giomrss @amud . .60,000, gES@ whHgh L&@g‘ﬂ . 20,000 ) \ R
Boidl srsamLriLy ep. 5,000 @ymbl egaﬁ@umu L 9iflsi. - : et
Sales 6,00,000
23. Statement of financial position of Mr. Arun is glven below : - . Pizetllexpenses 150,000
Liabilities 30.6.2009 30.6.2010 3 Assets 30.6.2009 30.5. 2010
: Rs. Rs. ‘ ; Rs. Rs. Variable costs: .
Accounts i Cash 40,000 30,000 Direct material 2,0Q,OOO
payable =~ 29,000 25,000 Debtors 20,000 17,000 Direct labour 1,20,000
Capital 7,39,000 6,15?000 Stock 8,000 13,000

Other variable expenses ,80,000

6 62453/CPZ6B/CPG6A/ ' . 1 ) 12  62453/CPZ6B/CPG6A/
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Gamil BLLwHD LieTafleni serdd [ s.

Apuewer 6,00,000
., Blened Qg saT .. 1,560,000
WLINUHLD Ss6liensy : : -
| Crmg Qumrper - 2,00,000
Gy n.edl 1,20,000

OO rHL{HLD Qsmm&‘m ~ 80,000

18. From the following balance sheets you are requu'ed to prepare

cash flow statement.
‘Liabilities 2016 2017  Assets 20 16 2017
b " Rs.  Bs. .~ Rs;  BRs
Share capital 3}00,0‘0(') 3,50,000 Land 70,000 86,000
Profit andloss a/c 20,000 33,000 Stock 90,000 1,00,000 ‘
Current liabilities 90,000 65,000 Debtors 1,20,000 1,15,000
Cash  1,30,000 1,47,000
4, 10 000 4, 48 000. 4,10,000 4,48,000

, &CSEQ G]a;rr@asa;uut_@m'rerr @@uq;ﬂ@&)& GO9S mHs erfra;a; @UL

é{gﬁ]&;ma;mmg,u_mer&u_w; ,
Qumgilysear 2016 2017  Qsrggissar 2016 2017

o o o ®
Lk epagerd |, 3,00,000 3,50,000 e - 70,000 86,000
mu UL &/@ 20,000 33,000 &Uésél@lllu 90 000 1,00,000

BLly Qurgiiyser 90,0000 65,000 as!_arrrrmﬂa;m 1, 20 000 1,15,000
Qprés 1,330,000 1,47,000
4,10,000 4,48,000 4,10,000 4,48,000

19. There are two projects A and B. The cost of the project is
Rs.30,000 in each case. The inflows are as under :
Cash inflows
Year Pr-oj_ect-A Project B
Rs. Rs.
I 10,000  2,000.
11 10,000 4,000
IT1 10,000 = 24,000

Calculate pay back period.

i SRV 62453/CPZGB/CPG6AI
 CPM6A/CPW6C/CPC6C/MAT6A

) @M(ﬂjﬁl}'fﬁ]&;m ‘A’ wpyid ‘B’ pflu @mvr@m er. 30,000 a{a;aﬁlmsn
sa_cm_mgj @{g,sm Qrés eurey&eT Spaimomg.

Qyrés o dreuey

ey b A SHlbB

O I
I 10,000 2,000
I 10,000 4,000

I 10,000 24,000
ﬁ@'uu QL_@JLD 5rra)g,£mma; SaTSE (. o
SECTION C—@3x 10 30 marks)
Answer any THREE questlo_ns.
20. .Distinguish ‘between management accounting and cost
©accounting. ‘

Guerameaw sarsdiumaub LD[DQILD @u_a;&aﬁ]ma) asmra;eﬂu_lmmum
CapuBsss. -

21. From the following balance sheets of X Ltd You ‘are requlred to.
~ prepare a comparative balance sheet. - :

. Balance sheet as ori 31= December (Rs. in lakhs)
- Liabilities =~ 2016 2017 Assets 2016 2017

Rs. Rs. “nl Rs. Rs.:
Equity capital ~ 400 400 Land and building 400 370
6% pref. capital 300 300 Plant and machinery ' 400 410

Reserves - 200 245 Stock ‘ 200 300
8% debentures 100 150 Debtors .. _200 300 -
Bills payable 50 . 75 Cash' : 100 140
Sundry creditors 250 350 _ e
‘ 1,300 1,520 - 1,300 1,520

X——ﬁg}@.l@o‘r;e_kﬁch £Gy QsrRsst Gerar @nLLbme GOl mbs:
Py CpréE @ouy How GHly SiflEmsmu st Qsds.

.31 lq_&Lbufr g,rrmévu.-r @@Duﬁm@ Gy (@;@a"'—sgﬁﬁé)

- Qurgiaiyser 2016 2017 QaTsEIEHET 2016 2017
. @ @ : @. 9 @
UBIG s . 400 400 How wHmIb sligL b 400 - 370

6% weraflonn L@ @s® 300 300 Qumfl wpmid @uisdyd 400 410
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